MBA 605 Name: K C \Z

September 2007
Exam

1. (5 pts.) Total output of aluminum in the world market is 50 million tons. It is produced by the
following six firms: Alcoa (14 m tons), Rusal (12 m tons), Alcan (8 m tons), Chalco (7 m tons),
Rio Tinto (5 m tons), and Hindalco (4 m tons). Compute the Herfindahl-Hirschman Index for this

industry. -
Y , 5. = -;ji - 25 7 Chaten: So - s¢ ~ /'Y 7
[21“"& <« ) . ) -
/Z...AJ e Se ~ —’—;—’ = 24 7. Ri7 ko S: .',.E_-;- = 109,
Q,J—“M . S;. 9/5‘ = /G .7‘ H %J*Ll : 5,‘_ - ’:::O_ s F °7o
~ 2
HHT_. Zs.L = 2-933 + 24 + (¢% 4 /yl'.,_/a?’_,,}?"

2. (10 pts.) The market for quick service restaurants in the UK campus area is not currently in long-
run equilibrium. Expansion of student housing close to campus and growth in enrollment have

allowed existing restaurants to earn positive economic profits. Illustrate the demand and cost
conditions facing such a restaurant.
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3. (15 pts.) You own a theater with 200 seats. The demand for seats is Q = 300 — 100P, where Q is
the number of tickets you sell and P is the price per ticket. You are currently charging $1.25 per
ticket and selling tickets to 175 people. All of your costs are fixed, i.e. marginal costs are zero.
(a) Should you cut your price in order to fill the theater? [Hint: this is not a yes-or-no question.
Explain the price you should charge to maximize profits.}] (b) Hlustrate your answer in the
diagram below. (c) Does your price accord with the inverse elasticity rule?
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4. (10 pts.) What do you predict will be the outcormne of the following static game? Briefly explain
the solution concepts you use in arriving at your answer.
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5. (10 pts.) Explain conceptually how you determined the scope of the product market and the
geographic market in which your Project Connect company competes.

6. (10 pts.) What do you predict will be the outcome of the following dynamic game? Explain the
solution concept that you use to solve the game.




7. (10 pts.) Airbus entered the super-jumbo jet market first and gained a first-mover learning curve
advantage. Boeing was late getting started, and had to decide whether to enter this market that
was already occupied by Airbus. Draw a game tree that illustrates this sequence of moves.
Explain what sort of payoffs must have been associated with each possible strategy path, given
that Boeing decided not to enter this market.
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8. (10pts.) You are the first person in the MBA program to acquire the new videogame, Halo Pong.
To help pay your out-of-state tuition, you decide to charge your fellow students to play the game
on your laptop computer in the MBA lounge. Other students in the program have identical
demand for the product. Each person’s demand curve is given by P = 30 — 2Q, where P is the

P price you charge and Q is the number of times during the semester they play the game. Assume

i that your marginal costs are constant and equal $2. (a) If you can only charge a single price, what

A\ | will you charge and what will your profits be? (b) If you could charge a two-part price, how

‘ would you set the price per play and what would be the entry fee? What would your profits be?
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9. (10 pts.) Parker Hannifin Corporation makes thousands of different industrial parts. It faces
different market conditions for different types of parts that it manufactures. Explain how it used to
price its products, and how it prices its products now. Bring the concept of market structure into
your answer about its current pricing practices.
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10. (10 pts.) Briefly describe the market structure of each of the following industries: .,
a. Charter yachts in the Greek islands — wmeaneplisfic <ceoun~p '—7‘4- from
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c. Alligators - ,OP_,r‘Fe,d‘(' Ceowmmp et tiom

d. Ivy-league universities — & ( 1§ of ° //



